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WMultiple Regression Equations
Yy = Bo + BIXI -+ BzXz + B3X3 + e
Y= B. X+ B:Xs+ BaXs +

Y = B Xy + [2Xz + f3X3 t+ e



Sewmipartial and Partial Correlation Coefficients, Joint Variance
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Dumimy, Effects, and Contrast Coding

Dummy:
Y =Bo+BiDi + BD2 + BiDs + e Group\Variable Di | D: | Ds
s Bg =T, (in this example, V| = ¥, or the mean of the referent group) Group 1 (referent group) 0 0 0
B Group 2 100
. Bi=T,- T, Group 3 010
R? = Variance in ¥ attributable to group differences Group 4 010 1
Y = Bo+ BiE1 + B2Ez + BsEs + @ Effects:
* Bo =V (unweighted grand mean) Group\Variable E:1 | E2 | Es
* Bi=h-¥ Group 1 (“referent group™ | -1 | -1 | -1
» :F?‘; Group 2 1] 0] o0
- 3= ¥y —
o T,=¥,=By—B,—B, B, Group 3 0 1 0
R? = Variance in Y attributable to group differences Group 4 0 0 1
Different contrast code for each comparison/research question Contrast:
You can have as many contrasts as you need (if you have enough df) Group\Variable Ci| Ca| Ca| Ca| Cs
Group 1 (referent group) | 1 1 0 2
Group 2 1 1 | 0 0
Group 3 -1 1 0 1 -1
Group 4 -1 -3 -2 -1 -1




Owve-Way ANOVA

Source SS df | MS K
/
~ SSp | MSg
Between Z n(Y,-Y) J-1 dfs | MSy
J . |
Within = Sy
(Error) Z Z(y Y’ N dfw
11
] 1
Total 2 Z( - Y) N-1
1 1




Two-Way ANOVA

Source S8 df MS F
]
5S MS
Variable J Zn (7 —7) J-1 — | L
Ml U df MSy,
K 5S MS
Variable K Z n, * (Y, —7)2 K-1 K K
1 Kk Kk ) d fK M SW
j— ] X SS MS
- g JXK XK
Interaction ZZ e = [V — (5, + ¥ - Y)I (J DHK-D) dfixk | MSy
J K 1
Within 2 . SSw
(Error) Z Z Z (Y”k Yk N-ITK) dfw
1 1 1
J K 1
Total YYD (=T N-1
1 1 1




